1/2

EXES
HREZDQZE « F.L B L & s = e | 8 B2 <sLme-mREEE
04 03 01 2 X 4 HELEFORFE - MLEBILERBALZHET S-ODEE YS! IR RXEER = 5L%E OumERk WUGPEE ORETEE .
ﬁ$¥ ﬁ% 2935,-{_-—_ 27¢F§ 28£ﬁf‘£_ zgﬂEF; l\%é5b‘ﬁ§+ﬁ 70 III“/‘ I’]l‘ ,EsETJﬁ1§b$¥E&% ﬁH: %_
M BF == oI —] F == o (SouE == = H
& Aol EFR) | FR) [ EF) [ F) | FR) | (M) T T | FE) |EE| EAER
1 | EBEmEEEE EEETBHEAOEE | EEERRCET A EEECOLTHESS 248| 455 455 455 4-2,3 04-03-01
o s S : = o | B2 HEEFRERETERE [FHEEAM : 30~34%F
: M Eéiﬁﬂrﬁﬁﬁiﬁ%ﬁr@% % E] - - 1,915 1,666 4-2,3 "
= - BAGEENR - B HERLM
1 |emEmEEEER mEEEOBR - Wsnowe | [ | EEZIREARA  TRIR of o o o 42,3 "
- HEAEEICEAT X BEIELST SRTEFRIZEZRIC
1 HEEMRHELESE HEERTRNEREDHRE o DHELEETRNERE] 2EBE 0 0 0 0 4-2,3 "
- EEHRAOBEU GRS, EXGESHEHROEESE
- SRR FICRATBEEGREIZTSEXEICHT
. HEED®IE (FHEIEIRAEERVEXERRAETE
2 |AEBEIRESEE EEEEEORIL L | om®) 5,337| 5,200 5 266| 5,266 4-2,3 04-03-02
BB BRERER LS. BRERRICEIBERS
5| %L B1-HDELR - 158
2 |AER3IEREE WRORLHER - BEHL | BRLERASRSR FERARHTTAIESD 0 0 0 0 42,3 "
.| sEEBEmEREaoEE
2 NIERGIHEREX ZERBEXNREER g | - FFELIR - AIAS TS LB L - BBUARI O B4R 216 216 216 216 4-2,3 7
- EERITEREHOER - BA
. ;ﬁ%iiﬁfiﬁ HP f@'l‘ﬁ%ﬁ?%ﬁ#
- 2 i N = B | - A=A UERE (A1E) - —03-
3 |MmEsEREER SHE A EEROER b A R e ) 3,019| 3,056 3037 3,037 4-2,3 04-03-03
- — AT - SEERIT - HEMITEREHER
| <rLotsr— mammEommE
3 |MEEsEREEZ HEEYE - ER | HBEEYR—s —ORE 1,367| 1,387] 1,360| 1,360 4-2.3 "
- HEEREHERRTLT Yy TEE
“
3 HEEHBERESE SHEBEWE LR z - ERMLBREES L EEL-EMMBOT RER 450 450 450 450 4-2,3 "
| mmEmEmLEs
3 HEEBRERESE HEBEWE LR e - BEERSFYRY FT—Y DEE 37,748| 21,957| 24,548 24,548 4-2,3 "
- HEBEBRB DM E
BT
3 HEEHBERESE HEERAROFHZIE %’3 HEERAREORBICX T HBIK 1,800/ 1,500/ 1,500 1,500 4-2,3 "
Tl T T ey PO ———
3 |wmEsErEsx BB EEAORIXIE | ARARTAROREER T SLOOEMSHT S - - | 15000 1,500 42,3 "
T CHBEEERE - i |- HEAEERBEORE (15X 47) ] L
4 | HEEEEBREDRILER R B O | O e {4 5) 41,793| 41,203| 41,424| 41,424 4-2.3 04-03-04
4 |EBEEEREORILEE 5 %ﬁ%%ﬁf"s‘_wgﬁﬁﬁ(”ﬁ HALR. R, 11,531| 12,360| 12,322 12,764 4-2,3 "
HBEFE L2 —DEE -
4 HESEFMRREORIEEE ?% - BEHEELEFEE I —REREITSEERE - 0l 3,392 3,392 4-2,3 "
4 |EmEEEREDRILEE HEEREHAEAZOEY || AIEREOSED. ARETEsSLERSN 8] 18| 78] 78 423 "
o | - MEFUHBREZRBIRAORE (2 A XK, &
4 |BBEEEREORLEL ) 5.778| 5,769| 5,777| 5777 4-2.3 "
- METMIE LR EFERTHEDERE F
i Cm w1 FYp—— e
4 5ﬁ§$5§*ﬁ§ﬁ?§ﬂg§1t$¥ l_'ﬁmTFT*EE')ﬁM(%“o)gﬁ{t i*ﬁ E}\J @gg*‘]‘/ﬁ%%{j-ﬁlﬁl‘i1t$¥ (*Huﬁﬁ@@ﬂﬁ%) ~ 41’740 53’ 278 54’ 537 54’ 537 4_2’3 Y7i
574
4 |EBEEEREORLEL z Z%E?ﬁiéﬁé?ﬁéi&éggéﬁm 5.608| 50558 5651 5, 651 4-2,3 "
5 Bﬁqﬁﬁgﬁﬁ_t%% é%%"}:\éig‘l;%{%a)f:&)@% ;l_; ég%%gui%ﬁ( L)O)T:&)@F*ﬁ{%*%@ " 1$&0) 0 0 O 0 4_2’1 04_03_05
5 |BLEmALER F R BRI LA | e st - 540 685 685 42,1 "




2/2

BXES
5 ’ ' B i = A LS R - E| <5lLz2- HREE
04 03 01 T X A HELXEDRE - MLELEHILEHRALZHET S-HDOEE S5 2R XL &B = LRS- HBEER OuaE: EESFEE ORI O
I = por e | 216K | 28K 2% [ RESHERHE 7w o | RRGOERRE
M BF = oI = 3 =5 o (SouE == > H
= 2 EFR | Fm) | FE | FR | FR) | FEE) T T | FE) |EE| EAER
5 |mrEmmrEs HEHDERER LB | o S T e - 363 376|376 42,1 "
& it 156, 713| 153, 379| 164, 489| 164, 682 0 0 0




